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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
FEARREA
= 1 29, 365, 874
bR b8 BE T
= 1 25, 631, 881
FE A EHE L T
= 1 1, 437, 465
TR PRATER AL (1) €<30cm
ZN 50 1,836 91, 800
TR TERLE (2) 30cm=C<60cm
%N 100 3,025 302, 500
FEPRATER AL (3) 60cm=C<90cm
ZN 60 5,933 355, 980
FEPRATER AL (4) 90cm=C<120cm
ZN 50 9, 349 467, 450
TR ATER L (5) 120ecm=C<150cm
ZN 15 14, 649 219, 735
A ER T
= 1 2, 324, 620
A LRER (1) €<30cm
ZN 60 1, 687 101, 220
FEHEALRER (2) 30cm=C<60cm
ZN 130 3, 241 421, 330
FEHEALRER (3) 60cm=C<90cm
ZN 90 6,571 591, 390
FEHEALRER (4) 90cm=C<120cm
ZN 70 10, 350 724, 500
FEHEALER (5) 120ecm=C<150cm
A 30 16, 206 486, 180
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TRy - T - A% - A5 MO LFENAL B G EHAm #H T2 (BB
TR VB T
= 1 1,297, 610
BB HALER (1) €<30cm
VN 60 852 51,120
FEAR B HUALER (2) 30cm=C<60cm
VN 130 1,713 222, 690
BB HUALER (3) 60cm=C<90cm
VN 90 3, 325 299, 250
FEAR B HALER (4) 90cm=C<120cm
VN 70 6,173 432,110
BB AL ER (5) 120ecm=C<150cm
VN 30 9, 748 292, 440
M A T
= 1 2, 198, 500
MHEREA (1) BREAS11 15em A E60m]
VN 20 2,965 59, 300
HHERTEN (2) BREAR16725em A B 120ml
VN 40 5,932 237, 280
HHERTEN (3) HREAE26730cm TEAFE180ml
VN 40 8,914 356, 560
HHERTEN (4) BREAS31735em A ££240ml
VN 40 11, 888 475, 520
HHERTEN (5) HREAE3640mm 7EAFE300ml
VN 20 14, 853 297, 060
HHERTEN (6) HRE A1 45mm TEAFE360ml
VN 20 17, 837 356, 740
MHERTEN (7) HRE 467 50mm 1E A FE420ml
VN 20 20, 802 416, 040
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THEXy « T - FER - 5 pso) FREAL K B G EHAm #H TE (B ESM)
A AR SEAIR bR 1
= 1 , 546, 062
AR IEAIBG bR Hh_EECA
m2 772, 700 11. 06 , 546, 062
PR B B T
= 1 , 570, 560
FEM R B A R E T UFH0)
m2 32, 000 80. 33 , 570, 560
ARBRE T
= 1 , 085, 000
AR AR ()
m2 10, 000 108.5 , 085, 000
FEAR AL T
= 1 , 172, 064
TEALEL T (1) FRAR (B - e 50)
= 1 , 526, 894
TELEL T (2) AN (#4)
= 1 , 645, 170
NSV UL
= 1 , 733,993
Jin L T
= 1 , 733,993
I AL ER
= 1 , 733,993
it 75 i
= 1 , 167, 753
] 346 L 3 {1
= 1 , 167, 753
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| T2 (BB
TR X T
= 1 2,131, 323
AR BT TAT 7 MERZERR BH%E)E 50mm
m 8 480. 4 3,843
iR TAT 7RSSR SHEERRE 6 c m
m2 600 202. 4 121, 440
PRauRiiig LB
m3 30 2,222 66, 660
ALy TAT 7 bk
m3 30 3, 266 97, 980
- MRS (45F8) RC-40 {LEV/E 25
Omm
m2 600 1,382 829, 200
E3E] FAEBRI T AT (20) AfEEIE 50m
m 3. Omtd
m2 600 1,687 1,012, 200
NN
= 1 36, 430
VAR X R A TE) £ 15em JE1. 5mim
E7|ie el
m 100 364. 3 36, 430
B TR
= 1 31, 533, 627
B SElTE:
= 1 2,956, 837
IR
= 1 332, 655
BIGREsET (K30
= 1 332, 655
HIBGERE (FE L)
= 1 2,624, 182
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
Wi

= 1 34, 490, 464
B

= 1 11, 238, 025
T AT

= 1 45, 728, 489
— R

= 1 7,811,511
TS

= 1 53, 540, 000
THEBLFH Y %H

= 1 5, 354, 000
TH#&G

= 1 58, 894, 000
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